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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

—o— dFVI
0.04 1 —@— dFVO

0.02

0. 00 - ap

—0. 02 ~

-0. 04 ~

37.5

40.0

42.5

45.0

47.5

day

50.0

52.5

55.0

57.5

300.0 1 _¢— pucC
297.5 A
295. 0 ~
292.5 A

290. 0 A

287.5

285. 0 A

282.5 A

40.0

42.5

45.0

47.5

day

50.0

52.5

55.0

57.5

—&— FRV
194

192

190 ~

188 ~

186

184

37.5

40.0

42.5

45.0

47.5

day

50.0

52.5

55.0

57.5

.6498 1 _@— FRC

. 6496

. 6494

. 6492 -

. 6490

. 6488

. 6486 -

37.5

40.0

42.5

45.0

47.5

day

50.0

52.5

55.0

57.5




400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

2000

1500

1000

500

3.0

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

Plot [["I", "lopt'], [’T’,I’Topt’], ['RH", "RHopt’'], ['ETcl’, 'optETcl’], 'LAl’, 'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [[’ FVOEC:

r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

rning: col ['PHC’, 'FVIPH'] is missing

10

20

30

40

50

60




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-14

BfiE) | FEBIETK (D) | E#=E (EH/K) | XK EFF

06:30 283 150.0 RS ThEAQO6:30 KENFEF (KAfEEER)
07:15 283 150.0 RS FiHRe07:15 KREBF (REAEHSE)
08:00 283 150.0 R5| TiHAe08:00 KHEFEF (RAEEHS)
09:15 283 150.0 Be| ThHH@09:15 REFEF (KAERE)
10:10 283 150.0 Be| TiHH@10:10 RHEEF (KRAEZRER)
11:00 283 150.0 R5| TiHAe11:00 KREERF (RAEHS)
11:45 283 150.0 Be| ThHje11:45 REEF (KAERE)
12:25 283 150.0 Be| ThiHHe12:25 RHEEF (KRAEZRER)
13:10 283 150.0 R5| TiHAe13:10 KRHERF (RAEHS)
13:55 283 150.0 Be| TiHHe13:55 REEF (KHAEZRE)
14:40 283 150.0 Be| ThiHHe14:40 RHEF (KRAEZREE)
15:30 283 150.0 B5| TiHAe15:30 KENFEF (RA1ERER)
16:30 283 150.0 Be| TiHHe16:30 REEF (KHAERE)
23t 3679.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6

FEIKRECE (2323.0 vs 5067.0) 15
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P3-14

RriE) | BRI (D) | EME (EA/K) | XK SRR

06:35 283 150.0 | 1Rige06:35 Bzh (REAEEE)
07:25 283 150.0 B {BRige07:25 Bz (GRPfERSE)
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21t 3962.0 (14)%) 2100.0 32 UHIKEC: 2080.0, PH: 5.6
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P3-14

RriE) | BRI (D) | EME (EA/K) | XK SRR

06:45 283 150.0 (2 =| 1Ri%e06:45 Bz (kBERSE)
07:30 283 150.0 (& =| 1Ri%e07:30 Bz (kEBERSE)
08:55 283 150.0 B {Ri&@08:55 Bz (KREEEE)
09:50 283 150.0 [Z=| 1Ri%e09:50 Bz (RFERE)
10:40 283 150.0 (& =| 1Ri%e10:40 Bz (GkBERESE)
11:25 283 150.0 | =| 1Rige11:25 Bz (REBEEE)
12:10 283 150.0 (2 =| Bige12:10 Bz (kAFERSE)
12:50 283 150.0 (B =| 1Ri%e12:50 Bz (kBFERSE)
13:30 283 150.0 FH| 1Bi&@13:30 B3h (RAEREE)
14:05 283 150.0 FA| 1BRi&e14:05 B3 (RAHERSE)
14:45 283 150.0 B {Rige14:45 Bz (RAFERSE)
15:25 283 150.0 |Z=| 1Ri&e15:25 Bz (GRBEEE)
16:10 283 150.0 (Z=| 1Ri%@16:10 Bz (KREAEESE)
17:25 283 150.0 |Z=| 1Ri%e17:25 Bz (GGREEESE)
21t 3962.0 (14)%) 2100.0 32 UHIKEC: 2080.0, PH: 5.6

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#[ERECE (2393.0 vs 4813.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=57 (2025-05-27)

1MfF———————T—————_—— ] - 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2057 2100 142
100 11700 709" 2000
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50 - 1000
60 Warning: lcol [FVI',| "FVO’'] missing 40
0 + - 02
( 4
200 A
- 40
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(NN
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n
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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0.6

0.4+

0.2~

0.0

—_— 4

| _obs
PPFD_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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P3-14

BriE) [ EBIETK (D) | EHE (EH/HK) | XK SRR

06:35 288 150.0 A5 {Ri%@06:35 B (RFEEREE)
07:30 288 150.0 RS {Ri&@07:30 Hah (REAMERESE)
08:55 288 150.0 BS| 1Ri%e08:55 Bz (RF{EEEE)
09:55 288 150.0 RS {Ri%@09:55 Bz (REERZE)
10:45 288 150.0 | =| 1Ri&e10:45 Bz (RB{EEE)
11:35 288 150.0 S| Rige11:35 Bz (REAERE)
12:25 288 150.0 BE| Ri%e12:25 Bz (RFEAERSE)
13:10 288 150.0 Bl Rige13:10 Ba) (REAEHE)
13:55 288 150.0 BE| Rige13:55 BHal (REAEHE)
14:50 288 150.0 BE| 1Ri%e14:50 B (RF{EREE)
16:05 288 150.0 sl 1Rige16:05 Bl (REAEESE)
23t+]3168.0 (11)%) 1650. 0 32 HEKEC: 2080.0, PH: 5.6

FEIKRECE (2370.0 vs 4587.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=56 (2025-05-26)

LR S e e i E e PP
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Warning: lcol [FVI',| "FVO’'] missing

2057

1700 F 716 2000

(¢
200 -
150
100 A

50 A
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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m=445, FV0=0 m=495, FV0=0 m=540, FV0=0

—o— ME —o— ME —o— ME
37.5 38. 75 39. 25 A
38. 50 - 39. 00 -
37.0
38. 25 -
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36.5 38.00
38. 50 -
37.75 -
i 38. 25 -
36.0 37.50 4
T T T T T T T T T T T T
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38.0 38.5
38.0
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37.5 38.0
T T T T T T T T T T T T
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40.0
39.5 - 39.5 - 40.0 ~
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39.0 39.0 39 5
39.0
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40 ] i
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39 -
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36 | 39 -
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600 800 1000 445 450 455 495 500 505 540 545 550
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P3-14

TERRHLER 2 STEELRT (191.0 :

ZRIAEBRIERE159. 0 ml.

HEEHECE (2323.0 vs 4373.0) 15

BfiE) | BRI (7)) | EME (EH/HK) | XS EFF

06:40 294 150.0 BE| {Ri%e06:40 Bz (REEREE)
07:25 294 150.0 A5 {Ri%e07:25 Bz (REERESR)
08:45 294 150.0 B 1Rige08:45 Bzh (REEESE)
09:45 294 150.0 RE| 1Ri&e09:45 Bz (REERS)
10:35 294 150.0 S| Ri%@10:35 Bz (REERRSR)
11:25 294 150.0 BE| Rige11:25 Ba (REAERSE)
12:10 294 150.0 Bl Rige12:10 Bz (REAERE)
12:55 294 150.0 RS Ri&e12:55 Bz (REAERESR)
13:30 294 150.0 B 1Rige13:30 B3h (REAEESER)
14:10 294 150.0 el Rige14:10 Bz (REAEHE)
14:50 294 150.0 B Rige14:50 Bz (REAERSE)
15:35 294 150.0 S| {Ri&e15:35 Bzh (REERSE)
16:35 294 150. 0 S| Ri%016:35 Bz (REERESE)
249t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6

159.0), FAlEEHT—@ L XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-14_0, Day=55 (2025-05-25)

T e g g e S B S g g
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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—o—
610 615 620
m=780,m FV0=0
—o—
780 785 790
m=950,m FV0=0
—-—
950 955 960

37.

37.

36.

36.

39.

39.

38.

38.

40.

40.

39.

39.

40.

40.

39.

39.

m=450, FV0=0
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